Nonlinear (Dennis-Stern-Loday) HC.

CLm,n = { \langle $0 \le j \le n; 1 - a_{n-1}a_{n-1}^{(k)}a_{n-1} - a_{n} \in GL(A)$ $a_{j} \in M(A);$ $(M(A) = lm M_n(A))$ Subject to: all the same, # M=1: < a0, --, [a,], --, an>;

den. by < a0, --, a,>; Also put $CL_{0,n} = \{*\}$ (Lt, is a (simplicial) X(cyclic) set (i.e. a cyclic object m sets): Simplicial

The cyclic structure: $d < a_0, -a_n > = < a_0, -a_0 = < a_0, -a_0 = < a_0 > = < a_0 >$ * du < ao, ---, au) = < au ao, au, --, au); $T \langle a_0, \dots, a_n \rangle = \langle a_n, a_0, \dots, a_{n-1} \rangle$ where a_i may be $a_i \in M(A)$ or $a_i^{(i)}$ and $\alpha \begin{bmatrix} \alpha \\ \vdots \\ \alpha \end{bmatrix} = \begin{bmatrix} \alpha \alpha^{(1)} \\ \vdots \\ \alpha \alpha^{(m)} \end{bmatrix}; \qquad \begin{bmatrix} \alpha^{(1)} \\ \vdots \\ \alpha^{($ The simplicial structure:

$$\frac{d_{k}(a_{0},...,a_{m})}{a_{m}(a_{m})},...,a_{m} = \langle a_{0},...,a_{m} \rangle, \\
\frac{d_{k}(a_{0},...,a_{m})}{a_{m}(a_{m})},...,a_{m} \rangle, \\
\frac{d_{k}(a_{0},...,a_{m})}{a_{m}(a_{m})},...$$

Here Ruk an n-tuple as,..., aj-1, g+1, -..., and defines a monoid 2 a'∈ M(A) | 1-ao--a--a--a--a-∈GL(A)} with the operation t; this howid maps to JL(A):

a 1-90-9-199-1-9n

Formulas * turn it into a cyclic object

M monoids.

TI If one disregards A then CL*, (as a bisimplicial set) is the nerve of the Suplicial category: n - 1 Monsidao, -, ĝ; -, an

Conjecturally: Maps (\(\Delta \times \Delta \times \) hocolin CL*,. (A) >> Sing | B&L(A {d'})| a simplicial algebra. The R.H.S. computes K.IA)).

See: Notes on Dennis-Stein symbols.

Also note:

(A) (maps to the n=0 part) Most probably: extends to BGL(A)+. Indeed: T, ICL, (A) is Abelian. GLIA)/w; 1-ab ~ 1-ba (if belong to GL) $\langle E_{12}^{a}, E_{21}^{b} \rangle \xrightarrow{E_{11}^{ab}} E_{22}^{ba}$ $1 - E_{11}^{ab} = e_{11}^{1-ab}; 1 - E_{22}^{ba} = e_{22}^{1-ba}$ $1 - E_{11}^{ab} = e_{11}^{1-ab}; 1 - E_{22}^{ba} = e_{22}^{1-ba}$ $1 - E_{11}^{ab} = e_{11}^{1-ab}; 1 - E_{22}^{ba} = e_{22}^{1-ba}$ $1 - E_{11}^{ab} = e_{11}^{1-ab}; 1 - E_{22}^{ba} = e_{22}^{1-ba}$ $1 - E_{11}^{ab} = e_{11}^{1-ab}; 1 - E_{22}^{ba} = e_{22}^{1-ba}$ $1 - E_{11}^{ab} = e_{11}^{1-ab}; 1 - E_{22}^{ba} = e_{22}^{1-ba}$ Or: for gEGLu(A), the mage of gi,...in EGL(A) in TI does not depend on i,<---<in. => GL(A)/or is commutative. Similarly: TI should act trivially on Th. reason, basically obvious) Con the same

If we believe in this: $HCL_{i}(A) := \pi_{i+1} \left(|h_{o}coh_{u} CL_{*, \cdot}(A) \right) =: KL_{i}(A)$

KL; (A) = K; (A)

Mutually inverse on K1.
What about on K2? (Does this give a new proof of the Matsumoto theorem?)

In general?

Conclusion for now:

HCL.(A) = KL.+1 (A)

Also Hochschild, negative/periodic cyclic version. Conjectually

 $KL.(A) \rightleftharpoons K.(A)$

Should define explicitly KL.(A) -> HC. (A) And when A is pronil potent, over Q: $KL_{\bullet}(A) \rightarrow HC_{\bullet-1}(A)$ When A is commetative, both ere known; the latter given by explicit formulas using polylogarithus (later). Also: seems well-suited for K-theory of cluster algebras.